Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2017
Subject Name: Electrical Machine-I
Subject Code: 2TEO3EMC1 Branch: Diploma(Electrical)
Semester: 3 Date : 21/03/2017 Time : 10:30 To 01:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)
Commutator converts EMF into EMF.
a) (A) AC-DC (B) DC-AC
(C) Fixes AC - Variable AC (D) Fixed DC-Variable DC
In differential compound generator field winding is connected such that
b) (A) both flux are additive (B) both flux are subtractive
(C) both (A) and (B) (D) None of above

D.C. Series motor is used in....................
c) (A) traction (B) trolley car

(C) crain (D) all above

Direction of force generated in motor is found out with the help of.......................
d) (A) multimeter (B) fleming’s right hand rule

(C) fleming’s left hand rule (D) faraday's law
&) Initially when motor is started speed of armature is.............

(A) not decided (B)O (C) » (D) maximum

f) In brake test drum is connected on..................

(A) yoke  (B) pole (C) Shoe (D) armature

In Swinburn test d.c. Machine is run as motor at....................
g) (A) full load (B) low voltage

(C) high voltage (D) no load

The two windings of a transformer are

h) (A) conductively linked (B) inductively linked
(C) not linked at all (D) electrically linked
Pole is used to produce

i) (A) Current (B) Voltage

(C) magnetic field (D) None of above
In three phase voltage phase difference between any two phase is.........

J) (A)10° (B) 120° (C)90° (D)60°
Natural air cooling system of transformer is used for........
k) (A)low capacity transformer (B)high capacity transformer
(C)any transformer (D)current transformer
) For distribution purpose which transformer is used?
(A)ideal transformer (B)Delta-star transformer
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(C)Star-delta transformer (D)None of above
Which types of losses do occur in single phase transformer?

m) (A) iron loss (B) copper loss
(C) both (A) and (B) (D) none of above
EMF equation of generator is..............

n) (AE=IR (B) Ep = E+IR
(C) E= @ZNP/60A (D) Ep =E-IR

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-5

Q-6

A
B

Attempt all questions
Draw and explain various parts of D.C. generator.
Derive EMF Equation of D.C. Generator.

Attempt all questions
Explain Swinburn'’s test for D.C. Machine.

Explain speed control of D.C. Shunt motor and D.C. Series Motor.

Attempt all questions
Explain back to back test for transformer.

Explain direct loading test of single phase transformer.

Attempt all questions
Compare Three Phase Transformer with bank of 3 Single Phase

Transformers.
Draw and explain accessories of 3-® transformer.

Attempt all questions
Compare lap winding and wave winding.
Draw and explain vector diagram of transformer.

Attempt all questions
What is auto transformer? Explain saving of copper in auto transformer.
Derive condition for maximum efficiency of transformer.

Attempt all questions

Draw the wiring diagram of a 12-coil, 6-pole, D.C. generator with double layer
lap winding. Prepare the table for connections.

The value of the maximum flux density in the core of an 11000/400V, 50Hz,
single phase transformer is 1.2 wh/meter?. If the value of primary winding turns
is 5600 find (a) cross sectional area of the core (b) number of turns in secondary
winding (c) turns ratio (d) transformation ratio (e) volts per turn.

(14)

(14)

(14)

(14)

(14)

(14)

(14)
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Q-1

b)

d)

f)

9)

h)

)

k)

oy6¥ldl

o{l Aol YSell ol clled W

slij2eR EMF Hiell EMF 2UldR 52 ®.
(A) AC-DC (B) DC-AC
(C) Fixes AC - Variable AC (D) Fixed DC-Variable DC

SlsRc90l2UE $ULGoS ot2? HL lES clltsos ol Al A WS atHL wUA B 5 el
(A) olal SESUT AR ULA (B) vial setsuoll alleoltsl al

(C) ool (A) Wal (B) (D) GURatl 51& ol8l

SLL el AR ol AUl Ul B.

(A) 253al (B) 2l s12

(C) 585al (D) GUR il oltl

H2RHL Beurd Actl oL ol (B AL ooerveee, ol uee ofl el asta ©.
(A) HElHle? (B) $A[MoLatl 1wl sletsll [aH
(C) ALl SLoll sletetl A (D) A3l [(un

AFRUMLAHL AR HeR A3 ARA B AR 2UA ... RUR

(A) atssl ag a3 o8l (B)O (C) w (D) HeTH
015 22 HU SHuvveern, YR S alHL B

(A) A5 (B) Ya (C) s (D) AR

RAstolol y2AL Ui R Sl Hellet e ofl 1 wa B.
(A) $ct Als (B) Al dlcesy

(C) 8lE ey (D) ol ALS
2l SR A clgeslat
(A)sssdladl dls adal sla d (B)8osslacll cls ada da B

©)cls udcl 8lct otell D)sAsgscl ls v sl B

Gausl scll Ml W oll GluAol e 8.
(A) 522 (B) e
(C) NoARs (3¢5 (D) As ul o3
Yl 58505 ML A A AR oll 38 dslelct ........... Sl ®
(A)10° (B) 120 ° (C)90° (D) 60 °
2lod SR UL AuRA AR cllol Rien ... ... HE2 duRlA B
(A) ol &tHloll gl SR (B) G &Hcllall 2lousHR
(C) slual 2leusHR (D) 822 2laASR
(32Elo2jalotoll 8 HIZ 53 2l 511R GUAL 2l B?

()

Page 3 of 5



m)

n)

(A) AEL 2lo 1R (B) 3cal- 2R 2loU SR

(C) RR-3c2L 2loUSHR (D) GURsll 51¢5 oldl
Aol 389 2lo SIHRHL Sl USIRatl Al UL B?

(A) Bl AR (B) S1UR Al

(C) ¢l (A) e\ (B) (D) GURall 5165 ol
%129 EMFaj Y2t .

(A)E=IR (B) Eb = E+IR

(C) E= @ZNP/60A (D) Eb = E-IR

Q-2 Q-8 ML 518 UL AUR YSall oll ¥ellol ;W

Q-2

Q-3

Q-4

Q-5

Q-6

Q-7

Q-8

o{lAoll Uil ol %cllol AL
LA o220l (Al a11o0 €13\ W UL,
ALl sxz2241L EMF< Y3 d1RAl.

o{lAoll Uil ol %cllol AL

ALl waild Wiz [Radotd uAloL AHmmAl.
ALl 2pil Hizz vt £l gz Hizz <l gy [eistdl Adl Aumal.

ol Aol Ysall all ecllol UL
2Le 5142 HIZ 615 2 65 WAL AHMAL

1-0 2145192 HIZ $1aRs2 Aol WAL UHMdl,

o{l Aol USall ail %cllol AL

As Yl 5803 2o SR Ul 2L Aot F823 el SR Alsoll AuHR(l 52

3-0 2lod S13R0{l WsAUNY €11 WA UM

o{lAotl YSell ell wellol AU
AU A Al Sl wRuHRl 53
2SR M2 oll AseR slaAUH ERL wa AHesLAl.

o{lAotl Ysall ell wclled AW
A2 2lo SR AeA 9j? Bl o SIHRHL cly (iU AHXLAL
2SR HIZ HEAH &Hcll of YA ARl

o{lAoll YSsell ol %cllol AW

(%)

(%)

(%)

(%)

()

()

()

12 818, 6 WAl SLAl oso1222 HIzell SHAH ARAR AU cll8SoSdlell SLRUUH E1RL.
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BSLRL HIZ of 201t dA(R 53,

11000 / 400V , 50 Hz A s YLcRaUL 2o SR ML HSTH $ESU totcll 1.2 Wh / meter?
8. % USHIL cllgos|oletl uialell Avaul 5600 SlA

(A) SRall WISV El ALdo] AASN (B) A553| cllgboslaloll wiatoll vl

(C) 2013 9lRllR (D) 2l S 2lat oJR0 R (E) clee ylA it 0.
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